WILDRIDGE,

PURVEYORS OF QUALITY POLY FURNITUR

330-893-4212 « www.wildridge.com

ASSEMBLY INSTRUCTIONS

HERITAGE BALCONY TABLE

LCC-152

\

Required Tools: Hardware: Parts:

- Mallet/Non Marring - (8) 1/4”x 2 3/4"bolts A =Table Top
Hammer - (8) 1/4" nuts B = Shelf
(Do not use Metal -(8) 2 1/2" screws C=Legs

Headed Hammer)
- #2 Square Drive bit

-7/16"Wrench or
Socket

Step 2
Turn table upright. Now fasten shelf using (8) 2 1/2" screws.
Align screws with pre-drilled holes in shelf.

Step 1

Using (8) 1/4" x 2 3/4” bolts and (8) 1/4" nuts (two per leg)
attach legs (C) to table top (A). Tighten all connecting points
with 7/16" wrench or socket.

Your table is complete.

Thank you for purchasing from Wildridge.




